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1 100kN/m#E#BZ % - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 458 5717 | Fhlist | 000 ~ 458 | 1.88 9.52 zh s 1.00| 500 ~ 5.00 5717 | Znlist | 5.00 ~ 500 | 1.88 9.52
9 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00]| 000 ~ 594 7437 | FnList | 000 ~ 0.00 | 1.68 8.48 zh s 1.00| 500 ~ 6.80 7437 | Fnlist | 5.00 ~ 6.80| 1.68 8.48
3 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 000 ~ 755 96.64 | #h L4t | 000 ~ 755 2.27 11.49 zhs 1.00| 5.00 ~ 10.10 96.64 | =h L4t | 500 ~ 10.10 | 2.27 11.49
4 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00 | 0.00 ~ 492 6133 | ZnLlist | 000 ~ 492 | 2.14 10.80 zhs 1.00| 500 ~ 6.90 6133 | Znblist | 5.00 ~ 6.90| 2.14 10.80
5 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00| 0.00 ~ 4.69 5848 | #nList | 000 ~ 469 | 1.83 9.24 zhs 1.00| 500 ~ 5.00 5848 | #n st | 5.00 ~ 500| 1.83 9.24
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~

D
H
f



